SAMPLE QUESTION PAPER
MATHEMATICS
CLASS-X

Multiple Choice type (1 mark) questions

1. fgeaTd TR 2x2-kx+k =0, ® el M 2 | k BT 719 &
(A)  @HAA0 B) 4 (C) Dads D) 0,8
Values of k for which the quadratic equation 2x2-kx+k = 0 has equal roots is:
(A)  Oonly (B) 4 (C)  8only (D) 0,8
2. T 5. DI 3 dTel gd & fd=g P R Teb w3l @1 Wil T8 Sl b B 9 Giel Ty
XN BT Q W U fad dxcl 81 OQ = 12cm T PQ &1 o Tg &
(A)  12cm (B) 13cm (©)  8.5cm (D) 119cm
A tangent PQ at a point of P of a circle of radius 5cm meets a line through the center O at a
point Q, such that OQ = 12cm. Length of PQ is:
(A)  12cm (B) 13cm (©)  85cm (D) 119cm
3. 13 52 % A& & Plel § 9 [P PHle AGBT (ol AT | HTs W Tdb YUl a¥ G &
A B AR &
& - ® - © - O -
A card is drawn from a deck of cards numbered 1 to 52. The probability that the number on
the card is a perfect square is:
@ - ® - © - O -
4. f3=g P(2,3) BT x- 38T A W &
(A) 2318 (B)  33PIg C) 13P1g (D) 53518
The distance of the point P(2, 3) from the x-axis is:
(A)  2units (B) 3units (©)  lunit (D)  bSunits
5. 6cm Il & @ & 3T gl Pl &FAhA o
(A)  36mcm? (B) 18m cm? O 12mrcm? (D)  9mrcm?
The area of the circle that can be inscribed in a square of side 6cm is:
(A)  36mcm? (B) 18m cm? O 12mrcm? (D)  9mrcm?
Short Answer-I type (2 mark) questions
1 fEeTd FHIBROT 3x2- 4y/3x+4 = 0 Hall BT Ui AT BIOIY |
Find the nature of the roots of the quadratic equation:
3x2- 4/3x+4 =0
2 k @ <1 A1 & feTq 2k, k+10 M 3k+2 AR #of § 87




For what value of k are 2k, k+10 and 3k+2 in AP?

3 Rig DI & 90 & @ & BR fagall W diEl T3 WL X@Y F9<R 8l © |
Prove that tangents drawn at the ends of a diameter of a circle are parallel.
4 Rig @Y f& td 9 & IR FAFR agysl FHagyst 2 |
Prove that the parallelogram circumscribing a circle is a rhombus.
5 ToRelT TX0T 132 3120 Ul & AT 12 WRIG U9 e U Fae @& 98 Al aardT ST dad]

g I #2 U9 wa @ AT =T | THE O U U9 ATgesdl | el AT giiiedr Sid
P 5 Fprer a1 99 st U B

12 defective pens are accidently mixed with 132 good ones. It is not possible to just look at a
pen and tell whether or not it is defective. One pen is taken out at random from this lot.
Determine the probability that the pen taken out is a good one.

Short Answer-II type (3 mark) questions

1

= fgarh afery & g oraEve Ay 9 s s
Vo x2-7x+5V2 =0

Find the roots of the following quadratic equation by factorization:

Vv x2-7x+5V2 =0

Uh AR o1 § UM g 5, 919 3R 3 a1 ndl Ug 50 & | 39 9 $0fl # n &1 A
TAT UM n UG BT ART AT HIFOTT |

In an A.P,, first term is 5, common difference is 3 and nth term is 50. Find the value of n and
sum of its first n terms.

TP SHAR o UTd H gedi & [y QI hAe arell [hdd Ugl Rl 2 | 599 ¥ B AT &
el & forg fhded 72l & RR &1 SaE 1.59eR a1 SHGT TISUS & A1 DT 300 Bl
21 98 da @ forg ofares grer it e ug! s 8 ek Sarg 3dier aor asve &
A1 FHT 60° HT & | TAS e H A Uel &1 o8 od BHIfoIg |

A contractor plans to install two slides for the children to play in a park. For the children
below the age of Syears, she prefers to have a slide whose top is at a height of 1.5m, and is
inclined at an angle of 30° to the ground, whereas for elder children, she wants to have a
steep slide at a height of 3m and inclined at an angle of 60° to the ground. What should be
the length of the slide in each case?

12 cm 3501 a0l 90 | TP AT = W 120° BT DT I © | 59 JAGS Bl ETB
T BINTT | ( =3.14 TAT /3 = 1.73 BT YA DI)

A chord of a circle of radius 12cm subtends an angle of 1200 at the centre. Find the area of the
segment of the circle. (Use = 3.14 and v/3 = 1.73)

TH FHE B IR 3m. DI SAg db da-HR A SEH HW AYFEGR B | AT R A
AT 105m dAT IFIHR AT & RS a8 53m & df 39 o< &I 991 § YT § TS
TS DI BT &AB ST DHITTT |

A circus tent is cylindrical upto a height of 3m and conical above it. If the diameter of the




base is 105m and the slant height of the conical part is 53m, find the area of canvas used in
making the tent.

Long Answer-I type (4 mark) questions

1 Tdh e BT 3P &% A 2 BA T | A 3 TAT & IF H 1 Skl 9I¢ Al =g A= qem qd
s 1 AT 2 R d gel R ST S|
The numerator of a fraction is 2 less than the denominator. If 1 is added to both numerator

and denominator, the sum of the new and original fraction is —. Find the original fraction.

2 T AN H0 & YAH n UGl BT ANT Sy = 3n2 - 4n & | FHIR 207 GO 9T 1241 Ug

S PDITY |

The sum of the first n terms of an AP is given by S, = 3n2 - 4n. Determine the AP and the 12th
term.

3 TH g B IR AGYS B TR SN 9d B R TR GYRE DIV AR Fxal ¢ | g
I |

Prove that opposite sides of a quadrilateral circumscribing a circle subtend supplementary
angles at the centre of the circle.

4 1.2 m o= dsdhl U T@ER Bl g1 & A1 &fcal fIem H 882 m @l Hdlg W Il
TG B | AR BT ASH! D G TR IHIT BV 60° BT ¥ | HF AHI YA AT DIT

TewT 30° BT ATAT & Q@MEH <) | 39 rafy # Jar gRT fha g aa a1 187

g9

88.2m

3150'14 _____________
Th | 1)

A 1.2 m tall girl spots a balloon moving with the wind in a horizontal line at a height of
88.2m from the ground. The angle of elevation of the balloon from the eyes of the girl at any
instant is 600. After some time, the angle of elevation reduces to 30° (see figure). Find the
distance travelled by the balloon during the interval.

5 6 cm ATT BT Udb AT UHT dTel doiThR H STell TAT| 39 dd9 &l AN 12 cm & | IS
T R TR | Ul H Qa7 SIY A A1 HISTY b ar¥il &1 WR a1 9¢ SIRi?

A sphere of diameter 6cm is dropped into a cylindrical vessel partly filled with water. The
diameter of the vessel is 12cm. If the sphere is completely submerged, how much will the
surface of water be raised?
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